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6Al =Y 26.0 215 =E |[AZLER REE me
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108 1)) 23.0 25.0 == BE |meE |
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oH DO BOD SS KGE#HHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
SElE| 65~85] 7150 E | 20LLF | 25LLF 10001 F
EHE (75%1E) - 7.4 1.8(2.2) 5 24000
4K 75 9.2 11 4 -
6A 7.3 6.4 2.2 13 2300
8H 7.2 6.1 1.3 5 -
108 7.6 6.2 1.9 2 -
128 7.7 9.2 3.2 3 46000
2H 7.1 7.1 1.3 3 —
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ARSHL| 2T E ANEivOL]  WE fioK &R 7L ILKER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
eE] 0.01LLF | JE48H | 0.01LLF [ 0.05LLF | 0.01LLF | 0.0005LLF JEBH
EfE]  <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
4K - - - - - - -
6| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8Bl <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
104 - - - - - - -
128 <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
28] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
DZ/=1=F | " 12-0o70 [ 1,1-S%0n [V R-1,2->50] 1,1,1-r)500
PCB 5 Mg R a4 | TFL A L
(mg/l) | (mg/I) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
s ERE [0.02LLF ] 0.002LLTF [ 0.004LLF [ 0.02LLF 0.04LLF 1LLF
E1 - <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.01
4K - - - - - - -
68 - <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.01
8H - <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.01
108 - - - - - - -
128 - <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.01
28 - <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.01
112-byy [F)Y0AFRSY0RT | 1,3-250 = N <
aaTsy | TFLY FLY oo~y FoSL A SV FARUAILTD
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#(E]0.006 L F[0.03LAF | 0.01LLF [0.002LLF [ 0.006 L | 0.003LLTF 0.02LLF
E1y <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
4K - - - - - - -
68| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8Bl <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
104 - - - - - - -
12 8] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
28| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
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(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HAE(E] 0.01LLF [001LLF] 10LLTF 0.8LLF 1LF
B3] <0.001 0.002 0.49 0.2 0.8
48 - - - - -
68| <0.001 [ <o0.001 0.16 0.1 0.4
8B| <o0.001 [ <o0.001 0.60 <0.1 0.2
10A - - - - -
128]| <0.001 0.004 0.52 0.2 1.3
28] <0.001 | <0.001 0.66 0.2 1.3
ZDHIRE
Nonmn| TEX| o8 NN
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EH{E - 0.9 0.051 - 0.014 - -
48 - - - - - - -
6 H - 1.4 0.11 - - - -
8H - 0.82 0.041 - 0.014 - -
108 - - - - - - -
128 - 0.63 0.031 - - - -
28 - 0.74 0.023 - - - -
By WmAEERTE | UM s e =S
IT/=| kS coD el > AE BREE
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) () (uS/cm)
EH{E - 3600 3.1 0.02 - - -
48 - - 1.9 - - - -
6 H - 2000 4.8 <0.01 - - -
8H - 790 3.6 0.04 - - -
10H - - 1.7 - - - -
128 - 6200 3.9 <0.01 - - -
2R - 5600 2.5 <0.01 - - -
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H DO BOD SS PNTFEE
P (mg/) (mg/D) | (mg/ | (MPN/100m))
- E 3 - - - -
EHIE(75%IE) = 5.2 4.7(5.3) 9 -
48] 76 8.5 15 4 -
6A| 72 4.8 3.7 15 -
8H 7.1 5.1 5.0 6 -
10| 74 4.1 3.6 9 -
128] 76 5.4 5.3 5 -
2A] 76 3.4 9.3 17 -
BEER
N INESS R AfoOL]  #ME Bk ER 7 ILFJLKER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
FHAEE] 001LLF | Et&H | 001LLF [ 0058LF | 0.018LF | 0.0005LLF JEtRH
T5{E - - - - - - -
48 - - - - - - -
68 - - - - - - -
8H - - - - - - -
108 - - - - - - -
128 - - - - - - -
2H - - - - - - -
ooyoni o 1,2->90 [ 1,1-C4an [ R-1,2-2490] 1,1,1-~)&00
PCB | 7gy | MBERR | ‘nrgy | 'zziy | RzFLy T4y
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HA(E] FEHH 10028 TF | 0.002LLF [0.004L0F | 0.02LLF | 0.04LLF 1LF
Eiy - - - - - - -
48 - - - - - - -
68 - - - - - - -
8H - - - - - - -
108 - - - - - - -
128 - - - - - - -
2H - - - - - - -
1,12-kys [F)Y0O0O|Fr5900x] 1,3-290 = N
uu:Fan IJa?VJ FLY nFa~s FoS5 L IRVY | FARVALT
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
FHAE(E[0.006LLF[0.03LLF| 0.01LLF [0.002LLF [ 0.006LLF | 0.003LLF 0.02LLF
Eiy - - - - - - -
48 - - - - - - -
68 - - - - - - -
8H - - - - - - -
108 - - - - - - -
128 - - - - - - -
2H - - - - - - -




HEBEEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E M| 0.01LLF [0.01LLF 10LLF 0.8LLF 1LLF
—weEl - [ - - - -
4H - - - - -
64 - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
2H - - - - -
EDHIEE
N ey 2% | & @ | 2E® | saafus | TRTVT
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
THE - 1.1 0.14 = = = =
4H - - - - - - -
6B - 1.5 0.17 - - - -
sA| - 0.84 0.14 - - - -
10H - - - - - - -
12H - 0.60 0.071 - - - -
28 - 1.3 0.18 — - -
BiLH HAHERME | VB : = i S
IT/=| kS cobD el > AR BREER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (4 S/cm)
TREl - - 6.3 - 0.07 = =
4A - - 3.1 - - - -
64 - - 1.0 - 0.08 - -
8A - - 6.2 - 0.12 - -
10A| - - 37 - - - -
12H - - 5.9 - 0.04 - -
28 - — 12 — 0.05 - -




